t d Assembly Instructions

Vue-C 75" 36350, 36370
Vue-C 90" 36450, 36470
G

. if:

:' | “ _—_——-_—:_:___ —— =
= ==

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



Assembly Instructions

HARDWARE
= i
= o
E B
=
M6 x 1.0mm x 16mmL M6 x 1.0mm x 10mmL 10-32 TORX FLAT HEAD 1/4-20x0.5 10-32x0.5
- @ B =
" .
8-32x0.5 #10 x 0.625 #8 x 0.625 10-32x1.75 #10 x 1.75
WOOD SCREW WOOD SCREW WOOD SCREW

1/4-20 SNAP FASTENER

TOOLS
s gl
Screwdriver/Drill # 2 Phillips # 3 Phillips T-20
Parts
a =~ e | S—
- e
=" 9
= =3 = ——28|ld—"
36002 36003

75000

36070

36071

36021

59056

info@winsted.com

winsted.com

| 8004472257

10901 Hampshire Ave. South Minneapolis, MN 55438



Assembly Instructions

ste

SINGLE / DUAL
WORKSURFACE

VUE-C 75" / VUE-C 90"

36043736047

36060/36061

=

té.z :
% x8

M6 x 1.0mm x 16mmL

o

# 3 Phillips

-4

\\‘— e
4

\

\

—

A

10901 Hampshire Ave. South Minneapolis, MN 55438

800.447.2257

winsted.com

info@winsted.com



Assembly Instructions
sted
gx4 O Cf‘%\z‘?x4 O @

# 3 Phillips == # 3 Phillips
1/4-20 x 0.5 M6 x 1.0mm x 10mmL

g

——. ﬂ“":’\ =

40|

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



Assembly Instructions

% x24 # 3gips

M6 x 1.0mm x 10mmL

36003 (4)

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



Assembly Instructions

®

1/4-20x 0.5

#10 x 0.625
WOOD SCREW 1/4-20x05
din >

— - £ ks

g OR

FOR FOR
LAMINATE MDF COMPACT LAMINATE

SURFACE SURFACE

|For 36350, 36450 Only |

WOOD SoREW 1/4-20x05
0 g 24 OR = 24 e
#2Phillps 7 X X #3 Phillips

FOR FOR
LAMINATE MDF COMPACT LAMINATE
SURFACE SURFACE

For 36350,36450 Only

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



st d Assembly Instructions

%‘ x4
=

1/4-20x0.5

36060/36061

2.

#10 x 0.625
oD o 1/4-20%05
[~
b
g x3  or gﬂ
FOR FOR
LAMINATE MDF COMPACT LAMINATE
SURFACE SURFACE

|For 36370,36470 Only |

WOOD SoREW 1/4-20x05
0 g 24 OR = 24 e
#2Phillps X X #3 Phillips

FOR FOR
LAMINATE MDF COMPACT LAMINATE
SURFACE SURFACE

For 36370/36470 Only |

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



Assembly Instructions

sted

SURFACE

#10 x1.75
WOOD SCREW 10-32x 175
FOR FOR
LAMINATE MDF COMPACT LAMINATE
SURFACE

57709 / 32708

#8 x 0.625

WOOD SCREW 832x05
)
36018 / 36026
OR x4
FOR FOR
LAMINATE MDF COMPACT LAMINATE
SURFACE SURFACE

1/4-20x 0.5

36043/36047

1/4-20
SNAP FASTENER

22
.

.
e

.

6034 (4)

1/4-20
SNAP FASTENER

233250
1059525395%!
005222323208
3

300533300000

5
225

9323905232020500

53309009370%0°0

10901 Hampshire Ave. South Minneapolis, MN 55438

800.447.2257

winstedcom | info@winsted.com



. ( ' r—] E
(::-t:l
| | r_] Es-t: r- l_j
l:) j,/
(EE r_]_.]

sted

080
ouooalo
$00¢,
£C050

205!

cooaooo

oooo'

Oc,

ooe:g

000,

2000

2000/

o,

oggoo

o,

550060
050060
°°°"’§§§ss:z:: :
¢, 0,

uoooeu
.m,:sz:z:::z::::o.,.
ooooooouoooouooo
060033:383066006
unaouo _—
uoeooouoo =
ooeaooooo e
Cog fid

SR,

T

v (9)
.GZEW
#103 gCR
WOO! i
!5 ¢
0.
-20 x
4

=’ X2
2
X

A—
¥ MD
te
ina e
-
ity
m
ct ce
pa rfa
Compac

G

5
0.
2 X uT
10‘32 KEPS N

-3
©. 10

2 Phillips
»

‘GD
W“
8,

000 gg.‘
'00:“

000!‘

0000 &

230 o6 32328”2“’

'.000(10 000000900

.,,,,::::::z:s::""“““

00600

0, 0060300000000000

0000

T s

;0 00000000 30000“-

0. 00, 000000 At

UOO 0, 00,

000000 90,

000000000

iisteesseses

oocooooo%

0000000

v-vrvrvrvrvrvrv;:

B s

X2 # 2 Phillips
\ 5
<) X
-32
-~ .
=
m‘ |
wer
1 Link Follo
« .
(;a
ining
h Remain
C
r ea
0 fo
d 1
9an
teps
tS
ea
[Rep
— ==
o

8
43
55

N

is. M

||S,

apo

inne

south M
ire Ave.

hire

ps

Ham

1

90

10

m
dco
inste

Win

info@

)

| i

ted.com
ins

win

|

57

22

47,

0.4

80

|



Assembly Instructions

x8 0

10-32x 0.5 #2Phillips

36023/36024

1

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



Assembly Instructions

# 2 Phillips

Repeat Steps 13-14 for Back Side Doors (59056) |

10901 Hampshire Ave. South Minneapolis, MN 55438 | 8004472257 | winstedcom | info@winstedcom



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11

